				Dep	artment of Hi	story				
			C							
Day	Year	9.00-10.00	10.00-11.00	11.00-12.00	12.00-1.00	1.00-2.00	2.00-3.00	3.00-4.00	4.00-5.00	5.00-6.00
		1	2	3	4	5	6	7	8	9
	General			DC2/GE-2	DC2/GE-2					
	Sem-II			Teacher:AG	Teacher:AG					
	General	Course:								
Μ	Sem-IV	Teacher :								
0	General	Course:	Course: DSE-2A		Course:					
n	Sem-VI	Teacher :	Teacher :AG		Teacher :					
d a	Honours				Course: DC-4	Course:		Course: DC-3	Course:	Course:
	Sem-II				Teacher :PKK	Teacher :		Teacher :SB	Teacher :	Teacher :
У	Honours				Course: DC-8	Course: DC-8		Course: DC-9	Course:	Course:
	Sem-IV				Teacher :SB	Teacher :SB		Teacher :PKK	Teacher :	Teacher :
	Honours Sem-VI				Course:	Course: DSE-4A	Course:	Course:	Course:	Course:
					Teacher :	Teacher :PKK	Teacher :	Teacher :	Teacher :	Teacher :
Day	Year	9.00-10.00	10.00-11.00	11.00-12.00	12.00-1.00	1.00-2.00	2.00-3.00	3.00-4.00	4.00-5.00	5.00-6.00
		1	2	3	4	5	6	7	8	9
	General	Course:	DC-2/GE-2							
	Sem-II	Teacher:	Teacher:SP							
	General			DC-4/GE-4						
т	Sem-IV			Teacher:SP						
u	General	Course:		Course: DSE-2A						
е	Sem-VI	Teacher:		Teacher:KMM						
S	Honours				Course: DC-3	Course: DC-3		Course:	Course:	Course:

u	Sem-II				Teacher :KMM	Teacher :KMM		Teacher :	Teacher :	Teacher :
a y	Honours				Course: DC-8	Course: DC-8		Course:	Course:	Course:
	Sem-IV				Teacher :SB	Teacher :SB		Teacher :	Teacher :	Teacher :
	Honours				Course:	Course: DSE-3A	Course: DC-14	Course: DC-13	Course:	Course:
	Sem-VI				Teacher :	Teacher :SP	Teacher : KMM	Teacher :SB	Teacher :	Teacher :
Day	Year	9.00-10.00	10.00-11.00	11.00-12.00	12.00-1.00	1.00-2.00	2.00-3.00	3.00-4.00	4.00-5.00	5.00-6.00
		1	2	3	4	5	6	7	8	9
	General	Course:		DC-2/GE-2						
	Sem-II	Teacher:		Teacher:AG						
W	General Sem-IV		SEC-2							
е			Teacher:SP							
d	General					Course:GE-2				
n	Sem-VI					Teacher :SP				
e	Honours				Course: DC-4	Course: DC-4		ENVS	Course:	Course:
s d	Sem-II				Teacher :PKK	Teacher :PKK		Teacher:	Teacher :	Teacher :
a	Honours				Course: DC-8	Course: DC-8		Course: DC-9	Course:	Course:
У	Sem-IV				Teacher :SB	Teacher :SB		Teacher :PKK	Teacher :	Teacher :
	Honours				Course: DSE-3A	Course: DSE-3A	Course: DC-13	Course: DSE-3A	Course:	Course:
	Sem-VI				Teacher :AG	Teacher :AG	Teacher :SB	Teacher :SP	Teacher :	Teacher :
Day	Year	9.00-10.00	10.00-11.00	11.00-12.00	12.00-1.00	1.00-2.00	2.00-3.00	3.00-4.00	4.00-5.00	5.00-6.00
		1	2	3	4	5	6	7	8	9
	General	Course:	DC-2/GE-2							
	Sem-II	Teacher:	Teacher:SP							
т	General	Course:	Course:							
h	Sem-IV	Teacher :	Teacher :							

u r s d a y	General Sem-VIHonours Sem-IIHonours Sem-IVHonours Sem-IV	Course: Teacher :	Course: SEC-4 Teacher :KMM		Course: GE-2 Teacher :SP Course: Teacher : Course: DC-10 Teacher :KMM Course: DSE-4A Teacher :PKK	Course: DC-3 Teacher :SB Course: Teacher : Course: DC-4A Teacher :PKK	Course: DC-14	Course: DC-3 Teacher :SB Course: DC-9 Teacher :PKK Course: DSE-3A Teacher :SP	Course: Teacher : Course: DC-8 Teacher :SB Course: Teacher :	Course: Teacher : Course: Teacher : Course: Teacher :
Day	Year	9.00-10.00	10.00-11.00	11.00-12.00	12.00-1.00	1.00-2.00	2.00-3.00	3.00-4.00	4.00-5.00	5.00-6.00
	General Sem-II	1 Course: Teacher:	2	3	4	5	6	7	8	9
F r i d a y	General Sem-IV	Course: Teacher :		Course: SEC-2 Teacher:AG						
	General Sem-VI			Course: GE-2 Teacher :KMM						
	Honours Sem-II				Course: DC-3 Teacher :SB	Course: DC-4 Teacher :PKK		ENVS Teacher :	Course: Teacher :	Course: Teacher :
	Honours Sem-IV				Course: DC-9 Teacher PKK	Course: DC-8 Teacher SB		Course: DC-10 Teacher :KMM	Course: Teacher :	Course: Teacher :
	Honours Sem-VI				Course: DC-14 Teacher :KMM	Course: DC-14 Teacher :KMM	Course: DSE-3A Teacher :AG	Course: DSE-4A Teacher :PKK	Course: DSE-3A Teacher :AG	Course: Teacher :
Day	Year	9.00-10.00	10.00-11.00	11.00-12.00 3	12.00-1.00 4	1.00-2.00 5	2.00-3.00 6	3.00-4.00 7	4.00-5.00 8	5.00-6.00 9
	General	Course:	DC-2/GE-2							

	Sem-II	Teacher:	Teacher:AG						
S	General Sem-IV General								
a									
t		Course:			Course:DSE-2A				
u	Sem-VI	Teacher :			Teacher :SP				
r	Honours			Course: DC-3	Course: DC-4		Course:	Course:	Course:
d	Sem-II			Teacher :KMM	Teacher :PKK		Teacher :	Teacher :	Teacher :
a	Honours			Course: DC-9	Course: DC-10		Course:	Course:	Course:
У	Sem-IV			Teacher :PKK	Teacher :KMM		Teacher	Teacher :	Teacher :
	Honours Sem-VI			Course: DSE3A	Course: DSE-3A	Course: DSE-3A	Course: DSE-3A	Course:	Course:
				Teacher :AG	Teacher :AG	Teacher :SP	Teacher :SP	Teacher :	Teacher :